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NAME OUT| IN |aross| Hep | NET NAME OUT| IN |aross| Hcp | NET
1 & = F|44 (43| 87 |15.6 |71.4 |28|F #k 1IE [K|49 |48 | 97 |21.6 |75. 4
2 |# B IE B|42 |44 | 86 |14.4 |71.6 |29|M & =53 |44 | 97 |21.6 |75.4
3|FH BE |40 |44 | 84 |12.0 |72.0 |30|HE%E |43 |47 | 90 |14.4 |75.6
4|8 @ B5h R399 (40| 79| 6.0 |73.0 [31|H R IE A|48 |48 | 96 [20.4 |75.6
5|% B 52 BA|46 [45 | 91 [18.0 [73.0 |32k H & 1|46 [49 | 95 |19.2 |75.8
6| B8 F FE|45 |52 | 97 |24.0 |73.0 |33 4F 5 3|46 |47 | 93 |16.8 |76.2
7K ZEE|49 (42| 91 |18.0 [73.0 |34|8k H 5 58|44 |49 | 93 |16.8 |76.2
8 |fF e ¥ —|36 |42 78| 4.8 [73.2 |35|Fk F &= =47 |44 | 91 |14.4 |76.6
9| XK B f& BA|44 (39| 83| 9.6 [73.4 |36|F U |52 (45| 97 |20.4 |76.6
10|# £ KHEF|52 [49 | 101 |27.6 [73.4 |37|lu B 5 =1|45 |39 | 84 | 7.2 |76.8
11|B8 O % —|48 |45 | 93 |19.2 [73.8 |38|8h KA |~ 7&|47 |54 | 101 |24.0 |77.0
12|14 3 IE #|44 (49| 93 |19.2 |73.8 |39|& f@ 1& —|40 |47 | 87 | 9.6 |77.4
13|#8 50 g BA|38 |37 | 75| 1.2 |73.8 |40|A & 14 |47 |46 | 93 |15.6 |77.4
14A O # —|44 (43| 87 |13.2 |73.8 |41|lu @ 3 —|49 |43 | 92 |14.4 |77.6
15|98 H @| 47 |56 | 103 [28.8 |74.2 |42|FE  # k|49 |49 | 98 [20.4 |77.6
16 |88kt 2B F|49 (48 | 97 |22.8 |74.2 |43|4 @ |44 |47 | 91 [13.2 |77.8
17| KEH =139 (46| 84| 9.6 |74.4 |44|9E 5k ¥ 1E|H4 |54 | 108 |30.0 |78.0
18| H & F|44 |52 | 96 |21.6 |74.4 |45|F8 & IE #i|46 |43 | 89 |10.8 |78.2
19|/ B [ k|46 |50 | 96 |21.6 |74.4 |46|AK & 5t F|48 |47 | 95 |16.8 |78.2
201 &K  IB|37 |41 | 78| 3.6 |74.4 |47|BT = & —|54 |52 | 106 |27.6 |78.4
21|42 B & {@|51 |44 | 95 [20.4 |74.6 |48|#k B FE 2£[44 |50 | 94 [15.6 |78. 4
22|%2 vt BA 8|39 |44 | 83 | 8.4 |74.6 |49|8 K 2 £[48 |50 | 98 [19.2 |78.8
23| KR & Bt —|47 |4 88 [13.2 |74.8 |50|%& + = ==|4b |46 | 91 [12.0|79.0
24| A WY |50 |44 | 94 (19.2 |74.8 |51|RS fn H #A|42 (48 | 90 |10.8 |79.2
25| K B J1|51 |49 | 100 |2b.2 [74.8 |52|F8 & &% F|59 |52 | 111 |30.0 |81.0
26 | #X % HR|42 |45 | 87 (120 |75.0 [53|E & % C|b6 (62 | 118 [33.6 |84.4
27|4%@ H 4B BA|47 |46 | 93 [18.0 |75.0
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